
2J 1,, J \" 9)

(

[This question paper contains 4 printed pages.]

Sr. No. of Question Paper : 1866 GC-3

Unique Paper Code : 224113O1

Name of the Paper : Human Resource Management

Name of the Course : B.Com. (Hons.) CBCS

Semester : III

Duration : 3 Hours

Your Roll N o................

Maximum Marks : 75

In stru ctions for Candidat es / er=i[ * fr{n

Write your Roll No. on the top immediately on receipt of this question paper.

En e:Fr-q:r + fra+ f s.n frs qq fttfRd e{r{ {t 3{q;rl 3ISFcls. ftftq t

(a) Define HRM and explain the strategic role of HRM In the 21" century'
(8)

(b) What do you mean by workforce diversity ? Why is it posing as a challenge

to various organisations ? (7)

Or

(a) Discuss the main functions, duties and responsibilities ofa human resource

manager in a modern organisation. (8)

(b) 'Downsizing is a planned elimination ofpositions in an organisation.' Critically

examine this statement. (7)

(o') HRM d cfr{rsr Afrs *{ 2ffi vrarq i unv fr rurfiR-*. qfr.*r d qrer

frks r

te) 6r{q-d frfurdr + arc aur q€+ I ? wr q,r"r I ft TE Rfuqdr'-6+ + fts
q+ftrctrffi+?
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(o') rne Riftr+ rett-+' d ingR-o' t.r'-o-{ + tH old, 6-dail ft y<roH fr
a*+qr dfrq r

(rs) aron d qa6 ts-fi t rr* qr *e-*-<a sq d fr<${ q-cqr t r, gq 6'im d
sr+drffi*. *q dfrqr

(a) Define HR policies and discuss their nature and importance.

(b) Critically examine the evolution of HRM in India.

Or

(8)

(7)

(a) What are the important aspects of Human Resource planning ? Explain.
(8)

(b) What is Job Analysis ? Describe the process involved in conducting ajob
analysis. (7)

(o') HR ffm'fr qRrilqr Afrq d{ T{+ ra-6c *i rr6e d ft*+<r dftq r

(t<) tra t gml + fr6m fr em-#q-<re-*. *q frfts r

3t?IEt

(m) qrs {fltr{ i{Filw{ + rEq$ cE(Hr * ? B-{m qnqr dftg r

(e) fie ftr&qur wr +dr + ? ds mqur 6-<r* t t-e-€ yfrqr qr qok dfrq r

(a) Briefly explain the significance of providing training to employees.
What criteria would you use to evaluate the effectiveness of a training
programme ? (8)

(b) Differentiate between performance appraisal and job evaluation. Briefly discuss

any two methods of performance appraisal. (7)

Or

(a) What is management development ? Describe any. four important techniques

of management development. (8)
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(b)
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What do you understand by fringe benefits ? What types of fringe benefits
can a company provide for it's employees ? (7)

(q) a'*qm a} cR'trur l* * rae m T&c i qrer d&q r cFrcrur 6rt*.{ fr
c:{rsfiildr qir I-sirfi-{ 6,-G { Gffi ffi 6r rfrrr ft'qr urm * r

(e) ftwra Ts'6-{ ft dE {sr6-{ i srct qres r ftqrcr Tqr6-{ 61 ffi 6
fttu* fr v&q i Rilq-<r dfts r

erq-Et

(o.) c-str ft+.m wr +dr + ? e-su ft-+,m d fr-€r qR q-6mqol q-+-qEl* 6r qdq

dfts r

(re) wgrean+t B{rcwrffifl}t ? ffi irq+o.ffi*ft-qn-6'R* qvftanr
}[EFT t6T R-i6.-ft + ?

(a) What should be the basis of promotion - merit or seniority ? Elaborate.

(8)

(b) The need for employee counselling in industry arises due to the problem of
conflict, frustration and stress. Enumerate. (7)

Or

(a) Explain base compensation and supplementary compensation. What is the

difference between the two ? (8)

(b) Why is employee counselling required ? State the various qpes olcounselling
used in an organisation to deal with problems of employees. (7)

(o) vffi tnl itrrrr wr +{ qGg: rrsn-f,r cr qMff ? frRR + {lar{q I

(e) t-*q t o.{qn+ + q<m{ t+ d srFwqz6- , ula, abr lr}: rcn * onur ssq *fr
lrqfrflfrvr

slelrlt

(o-) aut ffi sir algo mryffi d qrcqr dfrq r E{ H- { wr BTil ? ?
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(q) q{qrt qncd * qrqs{o-f,r wT I ? qftnttqt* 6 rrsr* ai Sd{r+ + fts <-116-{

i mo An-r+n * cilqfr 6r q+rr ftqr ural * rB;F6I rdre dftq r

(a) What do you mean by labour welfare ? Bring out the need for providing
welfare facilities to workers. (8)

(b) Define social security. Explain it's scope and importance in Indian
industry. Q)

Or

Write short notes on any three of the following :-

(a) HRIS

(b) Employee Stock Option Plan

(c) Retention

(d) HR audit

(e) Empowerment

(sx3)

(e) tmrRr+' S{sn fr ctrrm {ftq r rlrfr + Tm { E{-+ ftRR-+d iflt T6m *
qrer dftq r

3{9r.II

ffiRdd n t ffi *< qt irfu"a ftqffi ftfr{q:

(6) Hzus

(q) o,'{qrtei- ftr++c-{r

(r) ffiunw

(u) Hnir<rvtar

(s) <rrffi+'tur
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(t.) xB-o q-erq t inc Hr ffi{+ I ? qRs+- * o-srqqrt SErn{ * * qEraFr-flt

til rqq-dfrq r


